A2

iR LAZH R Hl

bl PEMREERBSFRFESDD

A2 1E BT [E: 2016481 A 24 H08:00~20164F1 A 25 H 08:00

P —_—-

CHRA: KEHME

|

SRARRERINRIARecs 5328

3 gé‘jg_;—{ NN =r & s NN o N . )
*EREGE HREEABBUEFIRRGHE | pupg 08 4 Wik b AT
N X B P A EE
BEYN
B EE hEZRZFTHR FAFFE (m) 3300
& TR
L 24t KK 35 LarHE (m) 2095.00 H# R (m)
B8R LR E % z O’ (m 2095.00  |£53LALE (mm) 311.1mm B T
i = 8:00-10:00 T~ 45-12:007& #-20:00#2 45-21:30 T £ & £ 4 -8:.00 T & &
= H e B (mm) 05
K E (glem®) 1.12 1.13 X E (s) 49
SR M B BEE (s/m) Ay (mglem?) 2 E [ g
BE (CC) %47 (mglem?) 5
4 7k (mL) [ 4 E® 0.30 PH{E 10
®311.1mm 5 % 4k £ +630*630E 4 # 3L +@203.2mmDC*2 1R +D308 42 7 & & £ +0203.2mmDC*1 18 +631*410
4By AL s * %
B 44 L +0177.8mmDC*3 4R +®127mmHWDP*3 1 +® 12 7mmDP
W EFEE (m) H# 4 i
kTt
it 3 A AT
4 4k | o xieE | s
A2 T4k 1B 3146 3 ] . %3
& R ] EEAR H T8 3E st HELT
4k Sk MUERBIES &1z
EHITEH 24.00 B & F 484
FHEH
& % /
RE IR /
AR F /
Ja k&R /
WECE R Ak / ERHEEHE (M) / BB (%) 0.0000
5 (08) C, C, C, iC, nC, iCs nCs
0.0000 0.0000 0.0000 | 0.0000 0.0000 0.0000 0.0000
Se (mg/g) | Sy (mglg) IS, (mg/g) [T (TC) GPI OPI TPI
/ / / / / / /
N /
[ HERT (min/m) FA / = /N / — /
LA (Cmin/m) = A / £\ / — i /
] i / . / BRAGE ('l / )
% 5 M5 F B o / o / Fit: B
W& SE Iy am 7 / ) /
FEHLIAR TR = BB A

FHEA: MEHE. RR

F 8. 201641 H25H




